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New capabilities: India and the Agni-V with MIRV
The choice of MIRV on Agni-V gives it range and ability to defeat defences

On March 11, Prime Minister Narendra Modi used social media to announce India’s entry into a small
club of countries capable of delivering multiple nuclear warheads on a single missile. This was
accomplished with the maiden flight test of Agni-V, India’s longest range ballistic missile with a range
of over 5,000 kilometres, with multiple independently targetable re-entry vehicle (MIRV) technology
under ‘Mission Divyastra’ by the Defence Research and Development Organisation (DRDO). Since its
first test in April 2012, Agni-V has undergone several tests and developments including canisterisation
to improve its ease of handling and operation. The MIRV system’s indigenous avionics systems and
high accuracy sensor packages ensure that the re-entry vehicles reach the target points accurately.
The DRDO said the mission accomplished the designed parameters. The test also comes five years
after India’s maiden anti-satellite (ASAT) test under Mission Shakti. On March 27, 2019, a live satellite
in the low earth orbit of around 300 km was shot down using a modified interceptor of the Ballistic
Missile Defence system.

This is a significant technological breakthrough that furthers India’s nuclear weapons programme and
strengthens second strike capability. This is particularly important given India’s nuclear doctrine
based on a no-first-use policy, credible minimum deterrence and massive retaliation in case of a first
strike, which was espoused in 2003, after the nuclear tests of 1998. The choice of the MIRV on Agni-V,
a three-stage solid fuelled engine, is significant as it is focused towards China given its range and
multiple warheads give it the ability to defeat missile defences. India completed the nuclear triad
when Mr. Modi declared in November 2018 that the country’s first nuclear powered ballistic missile
submarine INS Arihant had finished its first deterrence patrol. The MIRV is the next technological
threshold in this direction and it is now only logical and a matter of time before the MIRV is deployed
on submarine-launched ballistic missiles. China, which is fast expanding its nuclear arsenal, has
already deployed MIRV technology — first deployed by the U.S. in 1970. Pakistan claims to have
tested it as well. In this regard, the other side of this development is the factor of escalation
dynamics that is going to accelerate in the region with China and Pakistan. This spiral race of one-
upmanship is only going to deepen, get more technology-intensive and turn out to be an expensive

endeavour as well. ‘[Audio Explanation]‘ ‘[Practice Exercise]‘

e Red/blue coloring of words in the sentence indicates subject verb relationship; where ‘red’
denotes ‘subject’ and ‘blue’ denotes ‘verb’.
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10.

11.

Vocabulary

Warhead (noun) — the front part of a bomb 12.

or missile that contains explosives

Accomplish (verb) — Achieve, complete,
fulfill, realize, execute CNW?—IT

Maiden (adjective) — First, initial,

inaugural, debut, introductory Ygell

Undergo (verb) — Experience, endure, go
through, suffer, undergo Q}IW

Canisterisation (noun) — The process of
enclosing or packaging something,
especially a missile or a warhead, in a
canister for transportation, storage, and
launch.

Indigenous (adjective) — Native, local,

original, domestic, homegrown Tacefr

Avionics system (noun) — The electronic
systems used in aviation, including
navigation, communication, and flight-
control systems.

Parameter (noun) — Limit, boundary,
criterion, factor, variable WreeT

Orbit (noun) — the curved path through
which objects in space move around a

planet or star Sh&TT

Shoot down (phrasal verb) — Destroy,

down, bring down, blast, demolish AY

ORTET

Interceptor (noun) — a fast aircraft that
attacks enemy aircraft

13.

14.

15.

16.

17.

18.

19.

20.

21.

Breakthrough (noun) — Discovery,
innovation, advance, development,

progress dWheldl

Further (verb) — Promote, advance,
forward, develop, encourage 31T9Y ST

Strengthen (verb) — Fortify, reinforce,
bolster, enhance, consolidate Holdd ST

Given (preposition) — Considering, taking
into account, in view of, on account of

SEA gV

Credible (adjective) — Believable, plausible,
reliable, trustworthy, convincing

faeaaei

Deterrence (noun) — Prevention,
discouragement, inhibition, restraint,

determent f@aOT

Retaliation (noun) — Revenge, reprisal,
retribution, counterattack, backlash

giaamer

Espouse (verb) — Support, advocate,
embrace, adopt, promote AT AT

Nuclear triad (noun) — The three
components of a nuclear defense strategy,
typically comprising land-based missiles,
submarine-launched missiles, and strategic
bombers.

Submarine (noun) — Underwater vessel

Jelges!

S
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22.

23.

24.

25.

26.

27.

28.

Threshold (noun) — Limit, boundary, brink,
verge, edge HIHAT

Deploy (verb) — Position, station, place,
locate, arrange RGIGEZGII

Arsenal (noun) — Armory, stockpile, cache,

storehouse, repository EATIMN

Claim (noun) — Assertion, declaration,

statement, allegation, contention GIdr

In this regard (phrase) — Concerning this, in
this respect, on this matter, in relation to

this ST TTT H

Escalation (noun) — Increase,

intensification, rise, surge, upsurge agjﬁ

Dynamics (noun) — Forces, motion, energy,

mechanics, movement ITTaefierar

29.

30.

31.

32.

33.

34.

Accelerate (verb) — Speed up, hasten,
quicken, expedite, fast-track ST AT

Spiral race (noun) — Competitive situation
in which parties continually strive to outdo
each other in a cycle of escalation.

One-upmanship (noun) — Rivalry,
competition, contest, striving, jockeying
EIGECEAER]

Technology-intensive (adjective) —
Requiring a high level of technology,
knowledge, and investment in
technological resources.

Turn out to be (phrase) — Prove to be, end
up being, emerge as, become, result in

el

Endeavour (noun) — Effort, attempt, try,

enterprise, venture, Idcel
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10.

11.

12.
13.

14.

15.

Summary of the Editorial
Prime Minister Narendra Modi announced India's entry into a small club of countries capable
of delivering multiple nuclear warheads on a single missile.
The maiden flight test of Agni-V, India's longest-range ballistic missile with a range of over
5,000 kilometers, was conducted with multiple independently targetable re-entry vehicle
(MIRV) technology under 'Mission Divyastra' by the Defence Research and Development
Organisation (DRDO).
Agni-V has undergone several tests and developments since its first test in April 2012,
including canisterisation to improve its ease of handling and operation.
The MIRV system's indigenous avionics systems and high accuracy sensor packages ensure that
the re-entry vehicles reach the target points accurately.
The test comes five years after India's maiden anti-satellite (ASAT) test under Mission Shakti,
where a live satellite in low earth orbit was shot down using a modified interceptor of the
Ballistic Missile Defence system.
This technological breakthrough furthers India's nuclear weapons programme and strengthens
its second strike capability.
India's nuclear doctrine is based on a no-first-use policy, credible minimum deterrence, and
massive retaliation in case of a first strike.
The choice of the MIRV on Agni-V is significant as it is focused towards China, given its range
and multiple warheads' ability to defeat missile defenses.
India completed the nuclear triad when Mr. Modi declared in November 2018 that the
country's first nuclear-powered ballistic missile submarine INS Arihant had finished its first
deterrence patrol.
The MIRV is the next technological threshold in this direction, and it is a matter of time before
the MIRV is deployed on submarine-launched ballistic missiles.
China has already deployed MIRV technology, first deployed by the U.S. in 1970, and is fast
expanding its nuclear arsenal.
Pakistan claims to have tested MIRV technology as well.
The deployment of MIRV technology is expected to escalate dynamics in the region with China
and Pakistan.
This spiral race of one-upmanship is likely to deepen, become more technology-intensive, and
turn out to be an expensive endeavor.
The MIRV technology on Agni-V gives India enhanced range and the ability to defeat missile
defenses, strengthening its strategic position.
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Practice Exercise: SSC Pattern Based
1. What technological advancement did Prime Minister Narendra Modi announce on March 11

regarding India's defense capabilities? |[Editoria| Page]\

A. Launch of India's first unmanned space mission.
B. Introduction of a new lightweight combat aircraft.
C. India's entry into the club of countries capable of delivering multiple nuclear warheads on
a single missile.
D. Deployment of the first artificial intelligence-driven surveillance drone.
2. Why is the MIRV technology on Agni-V considered significant for India's strategic defense
against China?
A. Because its multiple warheads can defeat missile defenses, focusing on the threat from
China.
B. Because it enables the missile to travel faster than sound.
C. Because it allows for the launch of satellites into space.
D. Because it enhances the aesthetic appeal of the missile system.
3. What principle underlies India’s nuclear doctrine, which is reinforced by the development of
MIRV technology?
A. Aggressive preemptive strikes.
B. Credible minimum deterrence with a no-first-use policy.
C. Total disarmament and non-proliferation.
D. Unilateral military expansion.
4. Based on the passage, what can be inferred about the potential impact of India's
advancement in missile technology on regional security dynamics?
A. It will likely lead to a reduction in military expenditures in the region.
B. It may intensify the arms race and technological competition among regional powers.
C. It will prompt immediate disarmament negotiations among neighboring countries.
D. It will have no significant impact on the existing security dynamics.
5. What can be inferred about the role of technological thresholds like MIRV in India's defense
strategy”?
A. They are primarily aimed at enhancing India's space exploration capabilities.
B. They are focused on developing non-lethal weapons for peacekeeping missions.
C. They are intended to replace conventional weapons in India's arsenal.
D. They are considered crucial for achieving a credible second-strike capability.
6. Which word from the passage is a synonym for "threshold" in the context of technological
development?
A. Club
B. Doctrine
C. Milestone
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D. Patrol
7. Arrange the following sentences to form a coherent paragraph.

P. The alarm bells had rung when NASA images showed farm fires in the state, but the
authorities were then of the view that

Q. With the wheat-sowing season approaching, incidents of stubble burning have registered a
five-fold rise in

R. Punjab than those reported in the corresponding period in the past two years, pointing to
the inability or reluctance of the authorities to check the menace

S. the magnitude of the problem was not that serious and because of the agitation over the
farm laws, it would not be appropriate to take strict action against the offenders

A. SPQR B.QRPS C.SQPR D.PRQS
8. Arrange the following sentences to form a coherent paragraph.

P. The Supreme Court’s verdict on Shaheen Bagh protests has to be understood in the
context of Pulitzer Prize winner Walter Lippmann’s above statement, quoted by the court
to drive home the larger point about the right to peaceful protest in a democracy

Q. they are subject to reasonable restrictions, including those in the interests of the
sovereignty and integrity of India and public order

R. The legal position on right to free speech and right to assemble peacefully under Article
19(1)(a) and Article 19(1)(b) of the Constitution, respectively, has been very clear, i.e.,

S. IN a democracy, the Opposition is not only tolerated as constitutional, but must be
maintained because it is indispensable’

A. RSQP B.QPSR C.RSPQ D.SPRQ
9. Select the most appropriate option to fill in the blank.
The tone of his voice seemed to____ that he knew more than he was letting on.
A. incise
B. intent
C. inculcate
D. imply
10. Select the most appropriate ANTONYM of the given word.
Enormous
A. Tiny
B. Inapposite
C. lIrrelevant
D. Gigantic
11. There is a spelling error in the given sentence. Select the option that contains the
INCORRECTLY spelt word.
The questionnaire appeared to be misrably designed.
A. designed
B. questionnaire
C. misrably
D. appeared
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12.

13.

14.

15.

16.

17.

Select the most appropriate option to fill in the blank.
CovID-19 structural weaknesses in health systems worldwide and negatively

impacted individuals, societies, and economies.
A. concealed

B. laid
C. hit
D. revealed

Select the most appropriate option that can substitute the underlined segment in the given
sentence.
She will handling the baby as tenderly as possible.

A. wills handle

B. shall handles

C. will handle

D. will handled
Parts of the following sentence have been given as options. Select the option that contains
an error.
A old woman suddenly laughed, sounding just like an amused hen.

A. like an amused hen

B. sounding just

C. Aoldwoman

D. suddenly laughed
Select the most appropriate ANTONYM of the given word.
Annoy

A. Gratify

B. Vex

C. Irritate

D. Thrill
Four words of the following sentence have been underlined and given as options. Select the
option that contains a spelling error.
All life depends on a healthy planet, but the interwoven systems of atmosphere, oceans,
watercourses, land, ice cover and biosphere, which form the natural environment, are
threatned by human activities.

A. interwoven

B. threatned

C. biosphere

D. watercourses
Select the most appropriate meaning of the given idiom.
A stormin a teacup

A. Much excitement over something trivial

B. Asignal for upcoming storm

C. Easy money
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18.

19.

20.

21.

D. Suffering in silence
Select the most appropriate option to fill in the blank.
Varun has to his studies for the sake of his ill father.
A. sacrifice
B. imitate
C. reverse
D. applaud
Parts of the following sentence have been given as options. Select the option that contains
an error.
Shobek is very stronger than | am.
A. very stronger

B. lam
C. Shobekis
D. Than

Select the most appropriate option that can substitute the underlined segment in the given
sentence.
You are always try with jump over the wall.

A. tryingin jumping

B. trytojump

C. tryingtojump

D. tried with jump
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in the blanks.
The Reserve Bank of India’s Monetary Policy Committee (MPC) has unanimously and wisely
decided to apply a temporary pause to its inflation-battling monetary tightening by keeping
the repo rate unchanged. RBI Governor Shaktikanta Das was 1 in stressing that

the decision to pause was “for this meeting only”, underlining the commitment to ensuring
that retail inflation is 2 aligned to the mandated target of 4%. Clearly,

developments in the global financial system, particularly the banking sector
3 and the volatility and uncertainty they have triggered, have weighed

heavily 4 policymakers’ decision to wait and watch. Notwithstanding his

assertions that India’s ‘banking and non-banking financial service sectors remain healthy and
economic activity remains resilient’, itisthe 5 of rising credit costs posing risks to
both consumption demand and private investment that was a key factor in the World Bank’s
calculus earlier this week, when it cut India’s 2023-24 growth forecast to 6.3%.

Fill in the blanks with the most appropriate combinations of words

Select the most appropriate option to fill in blank 1

A. Pragmatic
B. Untenable
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C. Emphatic
D. Divisive

22. Select the most appropriate option to fill in blank 2
A. Progressively
B. Reportedly
C. Periodically
D. Potentially

23. Select the most appropriate option to fill in blank 3
A. Turmoil
B. Vigil
C. Marginal
D. Threshold

24. Select the most appropriate option to fill in blank 4
A. Of
B. By
C. Into
D. On

25. Select the most appropriate option to fill in blank 5
A. Fairness
B. Incentive
C. Spectre
D. Concern
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Answers

1. C 2.A 3.B 4.B 5D 6C 7.B 8D 9.D 10.A 11.C 12.D

13.C 14.C 15.A 16.C 17.A 18.A 19.A 20.C 21.C 22.A 23.A 24.D

25.C [Practice Exercise]
Explanation

1. C) Prime Minister Narendra Modi announced via social media that India has joined a select

group of countries capable of delivering multiple nuclear warheads on a single missile. This
capability was demonstrated through the maiden flight test of Agni-V, marking a significant
advancement in India's missile technology and strategic defense capabilities.

2. A) The significance of the MIRV (Multiple Independently Targetable Re-entry Vehicle)
technology on Agni-V lies in its ability to deliver multiple nuclear warheads with high accuracy,
making it a strategic asset against missile defenses. This capability is particularly important in
the context of India's strategic posture towards China, as it enhances India's deterrent
capability and addresses the challenges posed by missile defenses.

3. B)India's nuclear doctrine is based on the principle of credible minimum deterrence with a no-
first-use policy. This doctrine emphasizes that India will not be the first to use nuclear weapons
but maintains the capability for a significant retaliatory strike if a nuclear attack is launched
against it. The development and deployment of MIRV technology on missiles like Agni-V
reinforce this doctrine by enhancing India's second-strike capability, ensuring that it has a
credible and effective deterrent against potential nuclear aggression.

4. B) The passage suggests that India's advancement in missile technology, particularly the
development of MIRV technology, is likely to have a significant impact on regional security
dynamics. The mention of the "spiral race of one-upmanship" and the "escalation dynamics" in
the region indicates that such technological advancements may lead to an intensification of
the arms race and technological competition among regional powers, including China and
Pakistan. This could further complicate the security environment in the region.

5. D) The passage indicates that technological thresholds like MIRV (Multiple Independently
Targetable Re-entry Vehicle) technology are considered crucial for India's defense strategy,
particularly for achieving a credible second-strike capability. This is underscored by the
mention of India's nuclear doctrine, which is based on a no-first-use policy and credible
minimum deterrence, necessitating a strong retaliatory capability. The development and
deployment of MIRV technology on missiles like Agni-V enhance India's ability to respond
effectively in case of a first strike, thus reinforcing its second-strike capability.

6. C) The word "milestone" is a synonym for "threshold" in this context, as it also refers to an
important marker of progress or achievement in a particular field or endeavor

7. B) QRPS
Q: Sentence Q starts by setting the context that stubble burning incidents have increased with
the wheat-sowing season approaching
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10.

R: Sentence R further builds upon this by specifying the location, Punjab, and suggests the
failure of authorities to control the situation.

P: Then, Sentence P provides a backstory: NASA's warning through images of farm fires in the
state. It establishes what the authorities thought at the time they received the warning,
forming a bridge to Sentence S

S: Finally, Sentence S concludes by explaining the authorities' reasoning behind their inaction:
they believed the problem was not serious and that strict action would be inappropriate due
to the agitation over farm laws

D) SPRQ

S: The sentence 'S' sets the tone of the paragraph, discussing the necessity of opposition in a
democracy.

P: Following this, sentence 'P' introduces the specific issue of the Supreme Court's verdict on
Shaheen Bagh protests, relating it to the general idea of peaceful protests in a democracy
presented in the quote in sentence 'S'.

R: Sentence 'R' then elaborates on the specific legal position that relates to this right in the
Indian constitution.

Q: Finally, sentence 'Q' provides additional information on 'R', detailing the limitations placed
on these rights, thus concluding the paragraph

D) Imply' &T use 813 FAITH "imply" T 372 &IAT § Tobd T IT SAURT FLAT & fohdl
o S 3TF AFTPRT & 9 g TASC & H Agr 9T @ gl Sentence H mention
foham aram § o 3@ehT 3MTaTel &l FaX AT o1 @7 AT S 9§ ST Sfiefar a1 o
dg ddr gl W,sﬂﬁm' 'impIy'?II%bry Ter %I €t 'Incise’ T 31 % hIcqT, 'Intent' T k by
%‘ 3?\?(%?1' T TSl 3R 'Inculcate' &1 31T % @@ ar 'r;l;\':l'l?iT,ET sH context 7 H’E?f
el &
e 'Imply' should be used because it means to suggest or indicate that someone has more
information than they are explicitly stating. The sentence describes how the tone of his
voice gave the impression that he knew more than he was sharing, making 'imply' the

right choice. Whereas, 'Incise' means to cut, 'Intent' refers to purpose or intention, and
'Inculcate’ means to teach or instill, which don't fit in this context.

A) Enormous (adjective) — Very large in size, quantity, or extent. fa2ITel/ EI§T-T
Antonym: Tiny (adjective) — Very small in size, extent, or quantity. BIc]

e Inapposite (adjective) — Not apt or pertinent; inappropriate; unsuitable. 3-17:|,'C|'{I,T=I'?f

e Irrelevant (adjective) — Not connected with or relevant to something; off-topic.

3dscy

~
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e Gigantic (adjective) — Very large; huge. faemer
11. C) The incorrect spelling in the sentence is 'misrably'. The correct spelling should be
'miserably’. gﬂ' RES
12. D) Revealed' &l use@ﬂT FAIfF 'revealed' &1 37T ?IFIT %’ SW F A T AT 39
Yehe F&AT| Sentence H mention fRaT 31T § fF covip-19 a1 3fRae Fareey younfert
H TTATcAS HASIRAT Fehe $HI 3R caferadt, gams, 3R srdcgaeansit
dhIlcHD YHTT STelT|

e Revealed' should be used because it means to make something known or bring it into
the open. The sentence mentions that COVID-19 unveiled structural weaknesses in
health systems worldwide and had a negative impact on individuals, societies, and

economies.
13. C) will handling' % S¢o 'will handle' ST YJN3T B9 FAiTeh Modal verb 'will' & base verb
(V) T 9T gYar &

e 'will handle' will be used instead of 'will handling' because after the modal verb 'will',
the base form of the verb is used.

14. C) sentence & part 'Aold woman' H error%r FIifh 'old' 26 ST SToTeT 'o' H IRH ETFIT
€, % Ugol 'an' &T YT §IAT &1 Tar drd g - "An old woman suddenly laughed,

sounding just like an amused hen."
e Theerrorisin the part 'A old woman' because before the word 'old" which starts with
the vowel sound '0', 'an' should be used. The correct sentence would be - "An old
woman suddenly laughed, sounding just like an amused hen."

15. A) Annoy (verb) — to cause to be slightly angry or irritated. Il &HTAT
Antonym : Gratify (verb) — to give pleasure or satisfaction. Hﬂ"d' T

e Vex (verb) —to irritate or annoy. ﬁIE'IFIT
e Irritate (verb) — to cause annoyance or impatience. GRUTeT FHeIT

e Thrill (verb) — to cause to feel sudden excitement or emotion. AT FI&T
16. C) The correct spelling of the word ‘threatned’ is ‘threatened’ which means "to be a danger
to" or "to give warning of harm." WdT Yer AT, TATdAT ST,

17. A) A storm in a teacup (idiom) — Much excitement over something trivial S 99 W EI§?I’

3afard & SIear
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18. A) 'Sacrifice' T use B9 FAifeh "sacrifice” T 31 gIdT § ARTAT AT STl FITI
Sentence § mention fohaT ITaT %’ f& varun 319er AR [Tar & v 3196 cIE'I'&“; 21El
TET &, AT 'sacrifice’ T@T el &1 &t 'Imitate' T 37T & 3eThROT AT, 'Reverse' T
37 %’ BTvl'c',T-IT,}ﬁT 'Applaud' T 7Y %’ arelr EIGI'IHT,GIT sq context Fl'e?l’ a_-l'éT a'

e Sacrifice' should be used because it means to give up something important or valued.
The sentence mentions that Varun is forgoing his studies because of his sick father,
making 'sacrifice' appropriate here. Whereas, 'Imitate' means to copy, 'Reverse' means
to turn back, and 'Applaud' means to clap or praise, which are not fitting in this
context.

19. A) 'very stronger'$ dcol 'stronger’ <l AT gl Fifh 'stronger' Tesh Comparative
Degree%’ 3R 324'3’7 AU 'very' ST YT ITeld gl SIA— Shobek is stronger than | am.

e 'stronger' will be used instead of 'very stronger' because 'stronger' is a Comparative
Degree and using 'very' with it is incorrect. Like— Shobek is stronger than | am

20. C) 'try with jump' 3 F&ol 'trying to jump' ST TANT BIIT Fdifeh TGT 'are always' 3 TTT
Present Continuous Tense ol B'Q'?g'&'?f ®Y 'trying to' BIdT &; S — Helis always trying to

finish his work early.
e 'trying to jump' will be used instead of 'try with jump' because with 'are always' the
appropriate form in Present Continuous Tense is 'trying to'; Like— He is always trying
to finish his work early.

21.Q) 'Emphatic'a?ruse?-ﬂ?l'r aF<’JI:1"‘I:3?"emphatic"$r kh) ﬁﬂT % fRET aTd A Tasedr § 3R
IR & hgdIT| Sentence #H mention TRaT 1T % fo RBI Governor Shaktikanta Das & TIsC
& ¥ garr & g8 Ao o 3d meeting & foIT %’,sﬂﬁﬂ"emphatic'uﬁ qer gl
'Pragmatic' Tl k*E) ?IFIT % graras Iv zrm%ﬁaﬁr, 'Untenable' &7 372 %’ o8 gada
TeT foram ST Gah, 31R 'Divisive' T 37T & [FTSTARRY, ST 39 context H TaT Aar &

e 'Emphatic' should be used because it means expressing something clearly and forcefully.
The sentence mentions that RBI Governor Shaktikanta Das was clear in stating that this
decision was for this meeting only, making '‘emphatic' fitting here. Whereas, 'Pragmatic’
means practical or realistic, 'Untenable' means not able to be maintained, and 'Divisive'
means causing disagreement or division, which don't fit in this context.

22.A) 'Progressively'a?Fuse@?W ElfTﬁ'%"progressively" HT 3 g %’ - AT e |
Sentence H §dTAT 3T § o retail inflation 3T mandated target of 4% & ]I adjust
RaT ST ATRU| W'progressively'aﬁ LY &1 'Reportedly’ &7 37 81T & ‘g Sor

Join us on Telegram channel: English Madhyam, Email Id: Support@englishmadhyam.in
Website: www.englishmadhyam.in, Phone number: 7722987077 Page 13



file:///C:/Users/gourav/Desktop/examination/New%20folder/The%20editorial/www.englishmadhyam.in

\VET s WwiiwlopZl JOIN TELEGRAM CHANNEL: ENGLISH MADHYAM

23.

24,

25.

9T, 'Periodically' ®T 3 § 'THI-FHAT W 3R 'Potentially' HT 31 § 'GHIGAT T, 5 39
context H Tgr gl %’I

e 'Progressively' should be used because it means gradually or in stages. The sentence
discusses adjusting retail inflation to be aligned with the mandated target of 4%, making
‘progressively' the right choice here. On the other hand, 'Reportedly' means 'as said by
others', 'Periodically' means 'at intervals', and 'Potentially' means 'possibly’, which don't fit
in this context.

A) 'Turmoil'?ﬂuse@?ﬂ FAITR "turmoil" ST 37T ?IHT %’ 3renfa ar 3FEURATI Sentence H
mention%ﬂTW%‘%mﬁ?ﬂ?mﬁ,%ﬁqmﬁWﬂ?ﬁ?’f?@'
developments & Wvolatilityﬁ?uncertaintyﬁ'c{ 31%’ g sﬂ‘f%fl'lr'turmoil'?3I3Tw qer gl
STafeh 'Vigil' BT 31 gldT § STRTRehdT, 'Marginal &1 31 glar g Idid, 31X 'Threshold' &T
37 g cgollal a1 &, S E‘RTcontextff TEr el %’I

e 'Turmoil' should be used because it means a state of great disturbance, confusion, or
uncertainty. The sentence mentions that developments in the global financial system,
especially in the banking sector, have led to increased volatility and uncertainty, making
'turmoil’ apt in this context. On the other hand, 'Vigil' means staying alert, 'Marginal'
means minor or borderline, and 'Threshold' means a point of entry or beginning, which
don't fit in this context

D) On' T use 81T Fifeh sentence H FdTAT AT & % global financial system T
deveIopments3-ﬁT 3??7uncertainty}ﬁTvoIatilityﬁpoIicymakers % decision I $TRT 9T
sﬂcontextff’on'ﬁ 37 ?IFIT %'316{ AT, ST qu EES Q:Fgf %I Giaﬁ?'Of'Wpossession
T association fe@ & foIw ?IFIT %, 'By' ol 7Y (’ﬂFIT %'a?lRT'E}ﬁT'Into'ﬂ kE) Eﬂ?—ﬂ %"ff'
grdhr feom 7, &Y sﬁcontextﬁ' TEr AT Bl

e 'On'should be used because the sentence mentions how the developments and their
resultant uncertainty and volatility have had an impact on the policymakers' decision. In
this context, 'on' means 'affecting' or 'in relation to', which fits here. Whereas, 'Of'
indicates possession or association, 'By' means 'through the means or agency of', and 'Into’
indicates movement or transformation, which don't fit in this context.

Q) Spectre'ﬁuseé’l?l'r EI'Tﬁ%"spectre"$r 37 E’IT-IT % U 3T 7 &ar St 3= arel
JAT H A 3T obal %’I Sentence & mention f&haT AT %’ %rising credit costs &I
HAET Efl?-ﬁconsumption demand 3-ﬁTprivate investment & ToIT SIT@H 3T Fehdll %’,
S'H'T%I'U'spectre'zlﬁ Ter %’I Safeh 'Fairness' & 31Y % F&W{UﬁHT, 'Incentive' &T 37¥ %
PcdtgsT 3R 'Concern' T 31 & frar, & 3 context H Tal Tal gl

e 'Spectre' should be used because it refers to a looming threat or concern that might
arise in the future. The sentence indicates the issue of rising credit costs posing risks to
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both consumption demand and private investment, making 'spectre' the right choice
here. Whereas, 'Fairness' implies justice, 'Incentive' means a form of encouragement,
and 'Concern' generally denotes worry or anxiety, which don't fit in this context.
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